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Q1 . Chiropractor is related to joints in
the same way as pediatricians is related
to?

FTAUTFEL SIS | IHT TR Ga1aq g e
TR AT T TAATT Falfad g7

(A)Foot

(B)Gynec
0

(C)Childre
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Q.2 Ram is brother of Atul. Rekha is
sister of Rohit. Atul is son of Rekha.
How Ram is related to Rekha

T, A FT ATz 2l TE@T Utad & a8 2|
AT TET HT I gl TH @1 H Tohe Th1T
qeTad g7

(A)Son
(B)Brothe
r

(C)Neph
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Q.3 Statements: All Vodafones are idea / 1
ATSTRIA AT =AT &
Some Jio are Airtel / %= ST

@dﬁéﬁhﬁons . some Airtel are Vodafones./ 3=
U (dq msmﬁp@ne Airtel are ldea / &= T A
AERATE |1, All Idea are Airtel / Tsft IR

T3 & .
I, N%)fd‘ﬁ'% CONRYRigas
% ﬁ Zﬁ % Ooliow |
(B)AIl conclusions follows.

(C)only conclusions Il and Il
follow.

(MM\NIA AARALLIcIAN FALIAW S/
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Q.4 Three of the following four words are alike in
a certain way and one is different. Pick the odd
word out.

T d ATL Mol | o 19 Uah (H18d aiie |
THTT 8 3T Teh 9 g1 Sig 91ex .

(A)Thorium
(B)Uraniu
m
(C)Radium
(D)Sodium
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Q.5 Select the word pair in which the
two words are related in the same way
as the two words in the following word-
pair.

39 9163 Y KT I AL oraH 2T 9158 34

TR FE 18T g o e Hefeliad gea-sst &

;er:; .chl)%lcl @ (A)Chromium :

- OPPEL Silver
(B)Bronze : Gold
(C)Nickle : Iron
(D)Solder : Tin
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Q.6 Find the missing number from the
below options.

[ o H GeAT F1q
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Q.7 Select the terms that will
replace the ? in the following

series.

o =\

3T 91T T AT e ST ? T €79 A

ERINEEEREEIEE

Z, X, V,?, R, P,?
(A)S,

(C)T,
(D)T,

N
(B)S, O
0
N

vl
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Q.8 Arrange the following words in a
logical and meaningful order.

CREIRIERNEAREIGIEEE I EE LR

I w?w_ oWHte
2. Publish
3. Author
4. Reader (A)3, 1, 2, 5,
5. Sale 4
(B) 4, 3, 1, 2,
5

(C)37 27 17 5!
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Q.9 Select the term that will come next in
the following series.

39 T T =TI L ST [HEferied e # [T

ST
OBE, PDH, QFK, RHN,
? (ASKQ
B)RJQ

(
(C)SJQ
(D)SJP
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Q.10 Select the correct mirror image of the
given figure when the mirror is placed to the
right of the figure.

21 T AR T FET 2907 i
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Q.11 Which two signs should be
interchanged in the following
equation to make it correct?
Ferterierd THIsRT &l Hgl AT
forw =aH ot a7 =gl &l smaa o
TTAT AT AT 2T ?

24 +8-5x5+3=13 (A)xand

(B)x and
(Dh+ and

¢C)+ and

X
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Q.12 Three different positions of a dice are
shown below. Which number appears on the
face opposite the number 67?

Q?Fm'@r?ﬁdld -3 f@?}ﬁ?ﬁ IERCCIERIE

G A 3 S T Tt T feETs

3

St o

(D)5
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Q.13 If AU = 21 and EGG = 245, then how wiill

you code BAKE?
i< AU = 21 3T EGG = 245 g, aT 37 BAKE &l ®

=N O\ NN\
Flled hHI[?
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Q.14 ‘Cheerful’ is related to ‘Sad’ in
the same way as ‘Generous’ is related

to _
S T HY qEE H I THE g o7
THTT IS FT qA T8

(A)Gloom
y
(B)Kind
(C)Selfish
(D)Intellig
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Q.15 A square paper is folded and cut as

shown below. How will it appear when
unfolded’?

T RTINS °h| Fﬁ%ﬁ@ﬁagﬂu qIST 37




Q.16 Choose the Venn diagram
from the given options which best
represents the relationship amongst
the following classes: .

QU 0 faehieq] | | 98 a9 AE 9+ |
T avl o 1= 99 &l 999
T=eg T 29T &

Wheat, Mustard, Cabbage/iTg, a4l
AT
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Q.17 In a code language, NEEDLE is written
as MFDEKF. How will HAMMER be written in

the same language?
U % 9797 H, NEEDLE % MFDEKF fer@t

STTaT g1 HAMMER T ST 9797 § e for@T

STTUAT?

(A)GBLNFT
(B)IBLNDS
(C)GALND
S
(D)GBLND
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Q.18 Find the missing number from the
below options.

RIS
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Q.19 Three of the following four number-
pairs are alike in a certain way and one is
different. Pick the odd one out.
Meferfad =< J=eaT-iEat § 9 i UF
ﬁj%g T & 9T g 3T Uah 99 g1 aelle
[ = (A) 65-
(IE8))1 26-
50
(C) 17-
37
(D) 49-
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Q.20 Statements: All teachers are painters./

AT Torereh =L 2|
Some painters are rich./ T

MR STHIX &,

Conclusions: |. All painters are teachers. / Tt
EECIER TG e

Il. Some (BHCaE moinghisters!! fifows
FHIT =R A2l 81 (B) Neither conclusion | nor |I
follows

(C)Only conclusion | follows

(D)Either conclusion | or |l
()11OV)
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THANK YOU




